




MN |VNPType
MN Type

MNP Type

fri

.).r-r'
/1
I

I

MODEL MN-250

CAPACNY 250 kg

TEST LOAD 312 k9

UFT Max. 10m

HOISTING

MOTOR ELDC 750w

SPEED 12mlmin

SPEED CONTROL 0- 15m/min{Variable:Optron)

SAFETY DEVICE IVECHANICAL BRAKI & sUP CTUTCH

POWER SOURCES AC lQ 220Y 50/60N2

OPERATION METHOD PUSH BUTTON
SWITCH IYPE ON

LED DISPLAY POWER(green) & ALARM(red)

OP€MNNG TEMPERATURE -20"c - 50'c

lnternational Protection 54

LOAD CHAIN O4.0 x P12.0mm lfal I

PAINT COLOR 0.4 PB 4.2/5.6

NET WEIGHT Max. 1.9 kg

MODEL MN-250

CAPACITY 250 k9

TEST LOAD 312 kg

LIFT Max.10m

HOISTING

MOTOR BLDC 750w

SPEED L2m/mtn

SPEED CONTROL 0 - 15 m/min(Vanable:Option)

SAFETY DEVICE MECHAN]CAL ERAKE & sUP CTUTCH

POWER SOURCES AC 70 220v 50/60H2

OPERATION METHOD PUSH BUTTON
SWITCH TYPE ON F

LED DISPLAY POWER(green) & ALARM(red)

OPEMING TEMPERATURI -20'c - 50"c

International Protection 54

LOAD CHAIN 04.0xP12.0mmx1fall

PAINT COLOR 0.4 PB 4.2/5.6

NET WEIGHT Max. 19 kg

MODEL KPT

CAPACITY 2sO kq

I-BEAM WIDTH 75, 100, 125

Min. RADIUS of CURVE 900 mm

TEST LOAD 312 k9

NET WEIGHT 7k9

X OPtion: 7f H"J 3Af+E
(VARIABLE HOISTING SPEED)



MlNl Electric Chain Hoist

BODYAssembly

@--s
ffi

ru

- Option
- CW , SPEED UP
- CCW . STOP, SPEED DOWN

BODY Assembly
NO DESCRIPnON MATERI,AL QTY SIZE REMARK

A00 MAIN BODY Sub Asy 1 MN-250

B00 REDUCER CASE 5ub Assy 1 MN-250

809 O RING PUR. 1 P28x3.5

810 TORQUE CoNTRoI CAP 545C 1 Q40xI3.5

c05 CHAIN BUCKET PLASTIC 1 90x90x1621

c06 SOCKET HEAD CAP BOLT PUR. 1 M6x55

c07 LOCK NUI PUR. 1 M6

c08 LOAD CHAIN AISI15B24 @4xL5

E00 C0NTR0L PART Sub Assy 1 MN-250

H00 BOTTOM H00K Sub Assy 1 MN-250 250kg/r25kg

H08 sUP CUSHION URETHAN 1 @22xI2.4 UREI.HAN+STEEL WASHER

H09 CHAIN STOP HOLDER B SGP 3 @21..7x2.61x25L

HL0 CHAIN STOP HOLDER A s45C 1 250k9(125k9)

H11 SOCKET HEAD CAP BOLT PUR. 1 M5x25

HI2 LOCK NUT PUR, 1 M5

T00 TOP H00K Sub Asy 1 MN-250 250k9/I25kg

T08 TOP HOOK PIN s45C 1 Q20x90L

T09 LOCK NUT PUR. l- M8

P00 PUSH BUTT0N Sub Assy 1 MN-250

OIL GEAR OIL PUR. l- 250cc MEROPA 220





= F g ol -^- E(+)
KUKDONG ilOT'T CO..ITD.

Head 0ffice & Factory
630-2,Su n g gok-dong, Da nwon-G u, Ansa n-city, Kyu ng g i-do, K0 R EA

T. 82-31 -491 -531 1 F. 82-31 -492-0473

E-mail. : kukdong@kdhoist.com

Overseas DEPT.

T . 82-2-7 83- 4203 F . 82-2-784- 6340

E-mai[ : kukdong@kita.net

A/S Office 080-380-0001
Home-page http ://rarww. kd hoist.com

t1 .4 <*,

\ -,i

r:i.i ib--
,.'t\ ' 'l 

.-'\-\<

d - -J,-
t .-!-

.4

t,

.t"t
I

t--'
LJ

'I

.l I
!

-ji:,, :-;-i

I'l
"11

,N

*
. *- --'$

Q,

t\./\/ r,
| 'r
/./ 'l

't
)l

Ir. t ,tdl i-
.'' I

I

Cqpyright[C]2007 KUKDONG HOIST C0., LTD. Att Rights Reserved. j :

x EEEol^E(+)4lEg +43 EETt|dg fl6H qrflol EeE + glo-ee 4$l+g,tt EolHfHLltf.
I

:i;1* . ..*.; 
;

|'

t

ri, i


